KBTTS SHMIE 2AFEER

R’ 10:00~12:00 | 13 :30~16 : 00 | 17 : 00~19 : 00 19 : 00~21 : 00
1R + BETHT Y b (&) DRBKHA
2A = BEAAORBRL
3H A RAHE BA - Z—TLy R PaZTHE GR~NFE) P2 THZE (b FE)
4H X RAHE BA - Z—TLy R P THE GR~NFE) PaZTHZE (b F5E)
5H 7K LTF4 —RKE VaZTHE HRE~NFE) TaZTHE (f-wE)
68 PN RAHE BA - Z—TLy R P THE GR~NFE) PaZTHZE (b FE)
78 % RAHE BA - Z—TLy R P THE BR~NFE) PaZTHZE (b FE)
8H + A IEREBIRRZ DEBD A HRA
9H H BERBIABERORBIRA
10H A RAHE BA - Z—TLy R P THE GR~NFE) PaZTHZE (b FE)
118 K INEERTIVA T 1 R DEBIRA
128 7K RAHE BA - Tn—TLy R PaZTHE (PHR~NFE) P1ZTHE (R BE)
13H X RAHE BA - Z—TLy R P THE SR~NFE) PaZTHZE (b FE)
148 & RAHE BA - Tn—TLy R PaZTHE (PHR~NFE) YaZTHE (h-5E)
158 + BAL YR P a=7#%=E (10:00~16 : 30)
16H H
17H A BiRA BA - ZN—=TLy Ry VaZTHE HRE~NFE) TaZTHE (h-wE)
18H X BiRA VaZTHE HRE~NFE) TaZTHE (f-wE)
19R 7K LT 4 —RKRE TaZTHE PR~NFE) TaZTHE (h-wE)
20H X RAHE BA - ZL—TLy R P THE BR~NFE) PaZTHZE (b FE)
21H & RAHE BA - Tn—TLy R PaZTHE (PHR~NFE) YaZTHE (h-BE)
228 + BAL v 2> Saz7#E= (10 00~16 : 30)
238 = SHMRZED R BRHA
25H N RAHE BA - Z—TLy R PaZTHE BR~NFE) PaZTHZE (b FE)
26H 7k RAHE BA - Z—TLy R P THE GR~NFE) PaZTHZE (b F5E)
278 X RAHE BA - ZL—TLy R CaAZTHE GhR~NFE) PaZTHZE (b FE)
28H % RAHE BA - Z—TLy R VaAZTHE $R~NEE) PAZTHE (- FE)




